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Choosethe most appropriate correct answer for each of the following

1 Most of the carbatteries arerated in aunitcalled
"ampere-howrs". What does thisunitrepresent?
A electriccurrent
B Capacitance

C electriccharge
L electricpotential difference

2 Battery written on it (9mAh). Howmuch time1is required for this battery by

providing uswith a constant cuurent of intensity (0.4mA)?
22.5h

3.6h
2.5h
5.0h

3 Carbatterywritten onit (60Ah), Howmuch constant cuurent thatbattery canprovide

usifitworks continuously for (24h) until the battery is discharged?
A 20.5A
B 3.0A
C 25A

L 0.02A

4 Aboltoflightninghas an electric current of ( 3.5x 10%A) when hits the ground. If the
lightning lasts for ( 14us ) , the amount of charges thatis transferred to the groundis:

o i@ Wev b~

A 0.50C

B 4.9X10°C
C 4.90X10°C
L 49.0C

5 Charges are flowing through awire of cross-sectional area ( 1 5cm?). The quantity of
chargevarieswith time according to the function (q = 2t°+3t ) where the amount of

chargeis calculated in coulombs and the timeis inseconds.
Whatis the current density through thewire att=3.5s
A 1.1x10°A/m*

B 7.6X10°A/m*

C 2.3x10°A/m*

C 1.6x10°'A/m*
Thenumber of charges that flow through awire of radius (2.0 mm) each secondis

6 (45x10") charges. Calculate the charge density of this wire

A 7.50x10°A/m*

B 5.7X10°A/m*

C 4.90X10°A/m*

L 3.30x10°A/m‘*
Whatis the currentpassing through a conductorwith radius of ( 3.1mm) , if the current
density through this conductoris(5.2A/m? ?

A  1.6x10"A

B 3.5x10°A

C 5.1x10%A

D 22x10%A

/’ (L«Z.c ijo)\,‘_ci
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7 Which of the following equations correctly represent the electric currentin terms of the

current density?

) 1
A )=f7-dA
B 77:_/;%'0//“,
C /=fJ2-dA

D [/ f J-dA
8 ameasure of how strongly a material opposes the flow of electricis

A Theresistivity, p
B  Theresistance,R
C Conductivity (o)
D conductance, G,
9 the ability of materials to conductis

A  Theresistivity, p
B  Theresistance,R
C Conductivity (o)
D conductance, G,
10  Conductancehas the SI derivedunit of

A siemens(S)

B OhmQ
C (Qm)"
D A+C

1T Theunits of resistivity pis

A siemens(S)

B Qm
C Q/m
D m/Q
12  Whatistheresistance (R) of asilverwire (p=1.62x10-8 2.m), has alengthof(3.0m) anda
radius of( 52mm)?
A 5.7x10°Q
B 34x10°Q
C 26x10°Q
D 1.9x10°Q

13 Howwilltheresistance of a copperwirechangeifits lengthis tripled (withoutchangingin
its cross-sectional area)?
A Theresistancewill decreaseby 1/3
B  Theresistancewillincreaseby 3 times
C Theresistancewill decreaseby1/9
D Theresistancewillnotchange.
14 Howwill theresistance of a copperwire change ifits cross-sectional areais doubled?

Theresistancewill decreaseby 1/4
Theresistancewillincrease by 4 times
Theresistancewill decreaseby 2
Theresistancewillincrease by 2

0o W

0509886279 ) (2 )
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15  Howwill theresistance and current that flowing through a copperwire change if the
radius
ofthewireis doubled?
A Theresistancewill decreaseby 1/4 , The currentwillincrease by 4 times
B Theresistancewillincreaseby 4 time,, The curentwill decreasebyl/ 4 times
C Theresistancewill decreaseby 1/2 The cuurentwillincrease by 2 times
L Theresistancewillincreaseby 2, The cuurentwill decreasebyl/ 4 times
| 2.0m

The (2.0 m) lengthhollow silver tube shown in the 7 :
figurehas innerradius of (2.0 cm) and outerradius of @ )

( 3.0 cm) whatis theresistance of this conductor?
(p=1.62x10%Q.m)

16

1.0x10°Q
2.1x10°Q
3.6x10°Q
4.4%x10°Q

A Nichromewirewithlengthof( 1.2m) and (1.0mm)
radiusis connected to( 12V )battery as showninthe
figure, what should be the ammeterreading?
Theresistivity of sitveris(p=108x 108 Qm)

A 29A
B 21A
C 19A
C 12A

18 In theprevious figureif thereading voltmeterwhen the | 8 "R

circuitis open (12v) andwhen thecirclewas closed a L R i
voltmeterreadingbecame (11.5v) and reading of * ‘
&)

oW

17

ammeter (2A)

Whatis theinternal resistance of the battery?
A 6.00Q
B 0.25Q
C 5.75Q
C 11.75Q

Consider abattery thathas ( Vt=12.0 V) whenitisnot
connected to acircuit, When

a (10.0 Q) resistoris connected with the battery, I_@_“W"ni

thepotential difference across thebattery’s L

terminals dropsto( 10.9V). ':E
100 ®

19

120.0Q

Whatis theinternalresistance of the battery?
A
B 23Q
C
C 109.0Q

L 0509886279
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20 Thequantity TmAhis equalto

A 3.6As

B 3.6C

C 3.6A

L A+Biscorrect

Howwill the equivalentresistancebetween
the two-points (A, B) changes, ifweremove
one of theresistors from the setshownin the

figure?
A Itwillincrease
B Itwilldecrease
C Itwillnotchange

21

L Thegiveninformationisnotenoughto decide
22 Intheoppositecircuit (R1=6Q2) (R2=4Q).And the

reading
ofvoltmeter (3v),

Whatis the amount of voltage drop in theresistance R1?

A 3.0V
B 45V
C 75V
L 0.75V

23 Intheoppositecircuit (R1 =6Q) (R2=4Q).Andthe

reading of voltmeter (3v),

Whatis the amountoftotal voltage Vemf for battery ?

3.0V
45V
7.5V
0.75V

o wW

3
&

24 Three differentlight bulbs are connected in series

with a battery that delivers a constantpotential
difference, V emf.

Which lightbulb has the highest brightness?
A Thebulbwith thelowestresistance
B Thebulbwiththehighestcuwrrent
C Allofthemhasthesamebrightness
L Thebulbwiththehighestresistance
25 Howwill the equivalentresistance between the

two-points (A, B) changes,ifweremoveone
of theresistors fromthe setshowninthe

Aﬁgfgv%zdlincrease.

B Itwilldecrease

C Itwillnotchange

L Thegiveninformationisnotenoughto decide

0509886279




26

flowing frompointA topointB.
The current flowing through R2 is equal to :

A Isthreetimesthe currentthroughR1 andR3.
B Isathird ofthecurrent through R1 and R3.

C IstwicethesumofthecuwrentthroughR1 andR3.

D IsthesameasthecwrentthroughR1 and R3.
Based onthe data shown onthe adjacent
circuit, Calculate the amount of resistance R2

27

3.00Q
1.0Q
12.0Q
200

28 Based on the data shown on the adjacent circuit,
Calculate theintensity of the curent passing
through the battery

oo wm x>

3.0A

1.0A

12.0A

2.0A

Based onthe data shown onthe adjacent
circuit, Calculate electromotive force of battery

Vemf

gnwx>

29

3.0V
1.0V
12.0V
2.0V

oo

Threeidenticalresistors,R1,R2, and R3, arewired
together as shownin the figure. An electric cuurent is

......

i=2

rrrrrrr

R1 =602
=24

P =2

iy =14

RA»=7

1
Vot =2

Les o2 s
¢
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30 Depending ontheelectrical circuit shownin the
opposite circuit and the data onit.

Cdlculate Battery voltage difference: 7
' &
1=2.5A = L2
A 9.0V i R =682 o
B 4.0V =T
C 60V I
D 19.0V

31 Dependingontheelectricalcircuitshowninthe
opposite circuit and the data oniit.

Calculate the amount ofresistance (R2)

|

1=2.35A R, =6 1
A 9.0Q ! =T
B 4.0Q 1
C 6.0Q
D 19.0Q
32 Depending on the circuit shown in the opposite
figure, Calculate the equivalentresistance of the Ri=4.00
circuit N .
Rz =3.00 R =9.002
A 12.0Q I f—
B 3.0Q AV =18V
C 16.0Q
D 14Q
33 Depending on the circuit shownin the opposite Ri1=4.082

figure, Calculate The voltage difference between m
B
thetwopoints (a,b)

R: =3.002 Ry =9.0£}

A 18.0V It
B 45V AVeme=18V
C 16.0V
D 13,5V
34 The circuit showniin Figure has four resistors and a battery R

with (Vemf =149 V). thevalues of the fourresistors are M
(R1=17:0Q,R2=51.0Q,R3=114.0 @, andR4=55.0Q) o
Whatisthe magnitude of the potential drop across R2? RE % R,
A 149.0V =
B 23.8V ot
C 495V
C 77.0V

0509886279 :




35

36

37

38

39

40

Whatis the equivalentresistance of the circuit R, =2000)
shownin thefigure? YW

A 400 110 V== §
B 11.0Q R,=3.00Q | R; =6.000)

C 7.0Q
D 530
Whatis thepotential drop through R3?

R, =2000

L

A 19.0V
B 13.0V 110 V== §
C 38.0V Ry, =3.0002 } Ry =6.00
D 55.0V

Whatis the current through R1?

R, =2000

A 1371A
B 715.7A 110V == §
C 2ZZ.5A R; =3.000 } Ry = 6.00Q)
D 32.6A

Whatis the equivalentresistance of theresistors in the circuit
shownin thefigure?

A 1200 g
B 5.2Q
C 1.7 SR =2000 Ry =

D 120 3 i 6.00£)

Whatis the dissipated powerin R1?
’ ’ W RZ = 4.00{}

A AN

B 23w

C 35w R, =200 SR, =
C V=1500V

Y6000
4.2W ‘|'

A (39 Q) resistoris connected across a ( 45V) battery, How much energy isused by the
resistorin 5.0 min?

A 156K

B 8.9K]

C 26X10°7

C 5.3X107

~ ﬁ\

)
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